iNautix
 C,C++ & Unix paper: 

            C++ paper:

cin is an

a.function

b.object

c.class.   

what is the use of scope resolution operator? 

advantage of inline function? 

copy constructor is ans:call by value.                                                         

ques on vertual destructor? 

inautix one ques? 

one q' on container class? 

con't remember the ques but the ans is Virtual base class 

C paper

How will u terminate the statement? ans: ; 

select the wrong one

a.a+=1;

b.a*=2;

c.a**=1;(ans)

d.a>>=1; 

main()

{

  int n,i=1;

  switch(n)

     {

      case 1:

                some stuff;

      case 2:

                some stuff;

      default:

       i=10;

    }

 printf("i=%d",i);

 }

what will be value of i; ans:non of the above

4.pick ut the wrong one

   #typedef some stuff

    {

      ---

    }; 

pick ut the wrong one

#typedef some stuff

{

   ---

}; 

one q's on do loop? 

pick the odd one                                                                                         

a.malloc

b.calloc

c.new(ans) 

char *ptr;

p=malloc(20);

How will u de allocate the memory?

a.delete.

b.free. 

main()

{

   char **p=="Hello";

   printf("%s",**p);

}Ans: Garbage or nothing 

main()

{

   printf("%d%c\n");

   printf("%d%c\n");

}Ans: Garbage Value 

main()

{

   int x==5;

   printf("%d%d",x++,++x);

}Ans==6 6 

 main()

{

   int x==4;

   printf("%d",printf(" %d %d ",x,x) );

}Ans: 4 4 5 

main()

{

union 

{

   int i;

   char p; 

   struct                                                                                                         

{

   int t;

   char e;

   char o;

 };

};

 printf("%d\n",sizeof(l) );

}Ans: 4 

 main()

{

   int i==0,n==6;

   while(n--0);

          i+==n;

          printf("%d\n",i);

  }Ans: -1 

main()

{

    char a[]=="Hello";

    printf("%c\n",*a++);

}

Ans: Error 

 a=3,b=2,c=1;

What's the value of k?

k=  a< b < c-1;

Ans: 0 

main()

{

        int a==3;

 do

{

   printf("%d", a);                                                                                                  

   a= 1;

 } while(a0);

}

Ans: 3 

It is not "exact" Question; But the given Answers is:

a) PASS1 PASS2

b) PASS1 FAIL1

c)FAIL1 FAIL2

d)FAIL1 PASS2

main()

{

   char c==-32;

   int i==-64;

   unsigned u==-26;

   if(ci)

printf("PASS1");

  if( i < c)

        printf("PASS2");

else

       printf("FAIL1");

if(i<U)

    printf("PASS2");

else

     printf("FAIL2");

}Ans: PASS1 PASS2 PASS1 

main()

{

int i==0;

for( i==0; i<= ;i++)

    {

        switch(i)         

            {

            case 0: i+==5;

            case 1: i+==2;

            case 2: i+==5;

            default: i+==4;

            break;

    }

        printf("%d",i);

}

Ans: 16 21 

main()

       {

         int i==4;

         switch(i)

           {

             case 1:

                       printf("HEllo"):

             case default: // "case" should not come with "default"

                  printf("****");

          }

   }

   Ans: Error 

main()

      {

        int sum= 0,count;

        for(count= 1;sum+= count)

        printf("%d\t",sum);

        }

Ans: Error 

#define cond(a) a=e && a<=0                                                                    

main()

        {

          char s='R';

          if( cond(s) )

              printf("UPPER CASE");

         else

             printf("LOWER CASE");

        } Ans:UPPER CASE 

.main()

     {

       static int i==5;

       printf("%d\t",i--);

       if( i)

       main();

  }Ans: 5 4 3 2 1 

main()

     {

       char *a1=="new",*a2=="dictionary",*t;

       swap(a1,a2); 

       printf("(%s%s)",a1,a2);

       t=¡;

       a1=¢;

       a2= t;

       printf("-(%s%s)",a1,a2);

    }

     swap( char *s1,char *s2)                                                                       

          {

             char *temp;

             s1==s2;

             s2=s1;

             temp= s1;

         }

  Ans: (newdictionary)-(dictionarynew) 

 main()

       {

           char *a1= "new",*a2= "dictionary",*t;

           swap(a1,a2); 

           printf("(%s%s)",a1,a2);

           t=¡;

           a1=¢;

           a2=t;

           printf("-(%s%s)",a1,a2);

        }

        swap( char *s1,char *s2)

          {

            char *temp;

            s1= s2;

            s2= s1;

            temp= s1;

     }

       Ans: (newdictionary)-(dictionarynew) 

main()

  {

    int a[]=={ 10,20,30,40,50};

    char*p==(char*)a;

    printf("%d", * ( (int *) p+4);                                                                        

   }Ans: 50 

UNIX paper:

  How will u do version maintaince? sccs(source code control system) 

a program in shell script? find the o/p. 

awk $2 

which signal u can't catch?ans:sigkill 

core dump is due to ?ans:segmentation fault.                                               

.echo "todays date is 'date'"; o/p = ? 

process synchronisation is done by ?ans:s'phore 

process synchronisation is done by ?ans:s'phore 

Directions  :  For each question in this section, select the best of the choices given

main( )

      {

            int i = 1;  

            if(!i )

                  printf(“Recursive calls are real pain!”);

            else

            {

                  i = 0;

                  printf(“Recursive calls are challenging\n”);

                  main( );

            }

         }          

a)Recursive calls are challenging            b) Recursive calls are challenging                                                                        c) Error                                                d ) None         

. int i = 0;

      main( )

      {

            printf(“in main i =%d\n”, i);

            i ++;

            val( );

            printf(“in main i =%d\n”, i);                                                           

       }

       val( )

       {

             int i = 100;

             printf(“in val i = %d\n”, i);

             i ++;

       }                        

   a) 101  1                   b) Error message                      c)1  100                       d) None 

#define NO

#define YES

      main( )

      {

            int i = 5, j;

            if( i > 5)

                 j = YES;

            else

                j = NO;

            printf(“%d”, j);

        } 

a)  Yes  Yes  Yes   Yes   Yes   Yes   b) Error Message   c) None           d ) No No No 

#define AND &&

      #define OR ||

      #define LE <=

      #define GE >=                                                                                         

       main( )

      {

             char ch = ‘D’;

             if((ch GE 65 AND ch LE 90) OR (ch GE 97 AND ch LE 122))

                        printf(“Alphabet”);

            else

                        printf(“Not an alphabet”);

       }                                                  

a) No Alphabet            b) Alphabet      c) error             d)None 

main( )

      {

            int n[25];

            n[0] = 100;

            n[24] = 200;

            printf(“%d %d”, *n, *(n + 24) + *(n + 0));

       } 

   a) 200    100    b) 100    300   c) 100    200    d) None 

main( )

       {

            int arr[ ] = { 0, 1, 2, 3, 4};|

            int i, *ptr;

            for(ptr = arr + 4; ptr = arr; ptr--)

               printf(“%d”, *ptr);

        }

  a)  0 1 2 3 4               b) 4 3 2 1 0                  c) 1 2 3 4 0                  d)None 

main( )

      {

            static char str[ ] = { 48, 48, 48, 48, 48, 48, 48, 48, 48, 48};

            char *s;

            int i;

            s = str;

            for(i = 0; i <=9; i++)                                               {

                   if(*s)

                        printf(“%c”, *s);

                   s++;

               }

        }

  a)0 0 0 0 0 0 0 0 0 0   b) 1 1 1 1 1  1 1 1 1  1  c) 48 48 48 48 48 48 48 48 48 48  d) None 

main( )

      {

            static char str[ ] = { 48, 48, 48, 48, 48, 48, 48, 48, 48, 48};

            char *s;

            int i;

            s = str;

            for(i = 0; i <=9; i++)

            {

                   if(*s)

                        printf(“%c”, *s);                                                s++;

               }

        }

  a)0 0 0 0 0 0 0 0 0 0   b) 1 1 1 1 1  1 1 1 1  1  c) 48 48 48 48 48 48 48 48 48 48  d) None 

main( )

      {

            struct employee

            {

                     char name[25];

                     int  age;


                     float bs;

                };

             struct employee e;

             e.name = “Hacker”;

             e.age = 25;

             printf(“%s%d”, e.name, e.age);

       }

      a) Hacker25     b) Error message            c) 25 Hacker d) None 

main( )

      {

            struct s1

            {

                   char*str;                                                 

                   int i;

                   struct s1*ptr;

            };

     static struct s1 a[ ] ={

                                                {“Nagpur”, 1, a + 1},

                                                {“Raipur”,  2, a + 2},

                                                {“Kanpur”, 3, a}

                                        };

              struct s1*p = a;

              int j;

              for (j = 0; j <=2; j++)

            {

                 printf(“%d”,  --a[j].i);

                 printf(“%s\n”, ++a[j].str);

            }

            }

              a) 1    aipur                 b) 0      agpur                c) 0      aipur                 d) None

                  0    agpur                     1     aipur                     1      agpur

                  2      anpur                   2     anpur                   2      anpur 

#define NULL 0

      main( )

      {

            struct node

                        {

                              struct node *previous;

                              int data;

                              struct node *next;

                        } ;

                struct node *p, *q;

            p = malloc(sizeof(struct node));

            q = malloc(sizeof (struct node));

                       p->data = 75;

            q->data = 90;

            p->previous = NULL;                                                                  

            p->next = q;

            q->previous = p;

            q->next = NULL;

            while(p!=NULL)

            {         

                        printf(“%d\n”, p->data);

                        p =p->next;

            }

        }  

       a) 90              b) 75                c) 90                d) None

      75                  90                    90 

main( )

      {

            struct a

            {

                        int i;

                        int j;

            };

            struct b

            {

                        char x;

                        char y[3];

            };

            union c

            {

                        struct a aa;

                        struct b bb;

            };

            union c u;      

            u.aa.i = 512;

            u.aa.j = 512;

            printf(“%d%d”, u.bb.x, u.bb.y[0]);

            printf(“%d%d”, u.bb.y[1], u.bb.y[2]);

     }                           

       a)2020             b) 0022                c) 0202                        d) None 

main( )

      {

            int a = 3, b = 2, c =1, d;

            d = a| b & c;

            printf(“d = %d\n”, d);

            d = a| b & ~ c;

            printf(“d =%d\n”, d);                                                               

        }

  a)    d = 2                   b) d = 3                      c) d = 1                      d) None

         d = 2                        d = 3                           d = 1 

main( )

    {

        static char a[]=”Bombay”;

        char *b=”Bombay”;

        printf(“%d %d”,sizeof(a),sizeof(b));

    }

a.   1 6         b. 1 1            c. 6 6        d. None 

 main( )

    {

         int i=3;

         i=i++;

         printf(“%d”,i));

     }

a.   3            b. 4             c. undefined       d. Error 

What error would the following function give on compilation.

      f (int a,int b)

      {

          int a

          a=20;

          return a;

      }

a.   Missing parantheses in return statement.

b.   The function should be defined as     int f(int a,int b)

c.   Redeclaration of a.

d.   None of the above. 

main( )

    {

         int b;

         b=f(20);

         printf(”%d”,b);

     }

int f(int a)

{

    a>20?return (10):return (20);

}

a.   20          b. 10           c. No output        d. Error 

#define sqr(x) (x*x)          

     main( )

     {

          int a,b=3;

          a=sqr(b+2);

          printf(“%d”,a);

      }

a.   25          b. 11           c. Error       d. Garbage value 

#define str(x) #x

       #define Xstr(x) str(x)

      #define oper multiply

      main( )

    {

        char *opername=Xstr(oper);

        printf(“%s”,opername);

     }

a.   oper                   b. multiply       c. Error       d. None 

main( )

    {

         printf(“%c”,7[“sundaram”]);

     }

a.   S            b. m            c. \0            d. Error 

main( )

    {

        int a[ ]={10,20,30,40,50};

        char *p;

        p=(char *)a;

        printf(“%d”,*((int *)p+4));                                                                 

    }

a. 50                b. 10                c. Error            d. None 

main( )

     {

         printf(“%c”,”abcdefgh”[4]);

      }

a.   a             b. e             c. Error       d. None 

 main( )

     {

        printf(“%d %d %d”,sizeof(‘3’),sizeof(“3”),sizeof(3));

     }

a.   1 1 1       b. 2 2 2       c. 1 2 2       d. 1 1 1

Note:  Assume size of int is 2 bytes. 

main( )

     {

        struct emp{

                      char n[20];

                      int age;}

        struct emp e1={“david”,23};

        struct emp e2=e1;

        if(e1= = e2) printf(“structures are equal”);

     }

a.   structures are equal

b.   No output

c.   Error

d.   None 

 main( ) 

      {

          char a[ ];

          a[0] = ‘A’;

          printf(“%c”, a[0]);  

       }

a)   Compilaltion Error

b)  No output

c)   A

d)  None 

What is the name of the programming technique, which emphasizes breaking large and complex tasks into successively smaller sections?

    a.             Scrambling

    b.             Structured Programming

    c.               Micro Programming

    d.              Sub Programming 

Data integrity refers to

a.                   Privacy of data

b.                  The simplicity of data

c.                   The validity of data

d.                  The security of data 

 Which data communication method is used for sending data in both directions at the same time?

a.                   Super duplex

b.                  Simplex

c.                   Half duplex

d.                  Full duplex 

What is the usual number of bits transmitted simultaneously in parallel data transmission used by microcomputers?

a.                   6        

b.                  9

c.                   8

d.                  7   

The transfer of data from a CPU to peripheral devices of a computer is achieved through

a.                   Modems

b.                  Computer ports

c.                   Interface

d.                  Buffer memory 

The channel in the data communication model can be

a.                   Postal mail services

b.                  Telephone lines                                                                     

c.                   Radio signals

d.                  all the above 

The systematic  access of small computers in a distributed data processing system is referred to as

a.                   dialed service

b.                  multiplexing

c.                   polling

d.                  conversational mode 

A characteristic of a multi programming system is

            a          Simultaneous execution of Program instructions from two applications

            b.         Concurrent processing of two or more programs

            c.         Multiple CPU’s\

            d.         All the above 

In the IBM PC  - AT,  What do the words AT stand for

a.                   Additional Terminal

b.                  Advance Technologies

c.                   Applied Technologies

d.                  Advanced terminology 

 Different components on the motherboard of a PC processor unit are linked together by sets of parallel electrical conducting lines. What are these lines called?

a.       Conductors

b.      Buses

c.       Connectors

d.      Connectivity 

Execution of instructions from different and independent programs by a computer at the same instant time is called

a.                   Multiprogramming

b.                  Multiprocessing

c.                   Concurrent Programming

d.                  Multitasking 

Which of the following terms is the most closely related to main memory?

a.                   non-volatile

b.                  permanent

c.                   Control unit                                                                               

d.                  Temporary 

Which of the following are true?

a.                   Fields are composed of bytes

b.                  Fields are composed of characters

c.                   Records are composed of fields

d.                  All the above 

Which of the following hardware component is most volatile?

a.                   ROM

b.                  RAM

c.                   PROM

d.                  EEPROM 

Which of the following affects the processing power?

a.                   Data bus capacity

b.                  Addressing scheme

c.                   Register size

d.                  All the above 

#define AND &&

 #define OR ||

 #define LE <=                

 #define GE >=

 main( )

 {

   char ch = ‘D’;

   if((ch GE 65 AND ch LE 90) OR (ch GE 97 AND ch LE 122))

     printf(“Alphabet”);

   else

     printf(“Not an alphabet”);

   } 

  a) No Alphabet b) Alphabet c) error d)None 

main( )

{

  int n[25];

  n[0] = 100;

  n[24] = 200;

  printf(“%d %d”, *n, *(n + 24) + *(n + 0));

  } 

   a) 200 100 b) 100 300 c) 100 200 d) None 

main( )

  {

    int arr[ ] = { 0, 1, 2, 3, 4};

    int i, *ptr;

    for(ptr = arr + 4; ptr = arr; ptr--)

    printf(“%d”, *ptr);

   } 

     a) 0 1 2 3 4 b) 4 3 2 1 0 c) 1 2 3 4 0 d)None 

main( )

   {

    struct employee                                                                                    

   {

    char name[25];

    int age;

    float bs;

   };

   struct employee e;

   e.name = “Hacker”;

   e.age = 25;

   printf(“%s%d”, e.name, e.age);

  }

 a) Hacker, 25 b) Error message c) 25 Hacker d) None 

  #define NULL 0

   main( )

      {

     struct node

       {

        struct node *previous;

        int data;

        struct node *next;

        } ;

       struct node *p, *q;

       p = malloc(sizeof(struct node));                                                            

       q = malloc(sizeof (struct node));

       p->data = 75;

       q->data = 90;

       p->previous = NULL;

       p->next = q;

       q->previous = p;

       q->next = NULL;

       while(p!=NULL)

          { 

           printf(“%d\n”, p->data);

           p =p->next;

           }

           } 

       a) 90  b) 75  c) 90  d) None  75 90 90 

  main( )

     {

     int i=3;

     i=i++;

     printf(“%d”,i));

     }

     a. 3 b. 4 c. undefined d. Error 

   What error would the following function give on compilation.

       f (int a,int b)

      {

       int a;                                                                                                        

       a=20;

       return a;

      } 

#define sqr(x) (x*x)

    main( )

    {

     int a,b=3;

     a=sqr(b+2);

     printf(“%d”,a);

    }

    a. 25 b. 11 c. Error d. Garbage value 

 #define str(x) #x

  #define Xstr(x) str(x)

  #define oper multiply

   main( )

    {

   char *opername=Xstr(oper);

   printf(“%s”,opername);

  }

a. oper b. multiply c. Error d. None 

main( )

  {

   printf(“%c”,”abcdefgh”[4]);

 }

  a. a b. e c. Error d. None 

main( )

  {

   printf(“%d %d %d”,sizeof(‘3’),sizeof(“3”),sizeof(3));                                        

  }

a. 1 1 1 b. 2 2 2 c. 1 2 2 d. 1 1 1

Note: Assume size of int is 2 bytes. 

 main( )

{

struct emp{

char n[20];

int age;}

struct emp e1={“david”,23};

struct emp e2=e1;

if(e1= = e2) printf(“structures are equal”);

} 

 main( ) 

{

char a[ ];

a[0] = ‘A’;

printf(“%c”, a[0]);

}

a) Compilaltion Error                                                                                       

b) No output

c) A

d) None 

main( )

{

int x = 5;

printf(“%d %d”, x++, ++x);

return 0;

}

a) Error b) 6, 6 c) 5, 7 d) 7, 6 

main( )

{

int z = 4;

printf( “%d”, printf(“ %d %d “, z, z));

}

a) 4 4 3 b) 4 4 5 c) 4 4 4 d) Error 

int i = 0;

main( )

{

printf(“i = %d”, i);

i++;

val( );

printf(“After i=%d”, i);                                                                                   

val( );

}

val( )

{

i =100;

printf(“val’s i=%d\n”, i);

i++;

}

a) i =0 b) i=0 c) Error d) None of the above

val’s i=100 val’s i =100

i =1 i=101 

val’s i =100 val’s i =100 

main( )

{

int a[ ] = { 10, 20, 30, 40, 50};

int j;

for (j = 0; j < 5; j++)

{

printf(“ \n %d”, * a);                                                                                           

a ++;

}

}

a) 0..5 b) 0..4 c) Error d) None of the above 

main( )

{

int a[5] = {2, 4, 6, 8, 10);

int i, b =5;

for(i=0; i<5; i++)

{

f(a[i], &b);

printf(“\n %d %d”, a[i], b);

}

}

f(int x, int *y)

{

x = *(y) +=2;

}

a) 2 7 b) 4 9 c) 7 2 d) Error

4 9 6 11 9 4

6 11 8 13 11 6

8 13 10 15 13 8

10 15 12 17 15 10 

main ( )

{

int n=20, i = 0;

while(n- - >0);

i = i +n; 

}

The end value of i is 

(a)210 (b) 20 ( c) -1 (d) 200 

main( )

{

int i = 0; char ch = ‘A’

do {

printf(“%c”, ch);

} while (i++ <5| | ++ch < =’F’);

}

The output of above program is

(a) ABCDEF (b) AAAAAA BCDEF (c) A will be displayed infinitely (d) None of the above 

Assume that a,b,c are integer variables. Values of a,b and c are 2,3 and 1 

respectively. Which of the following statement is correct regarding the assignment d = a < b < c - 1;

(a) Above statement is syntactically not correct

(b) Value zero will be stored in variable d

(c) Value one will be stored in variable d

(d) Value -1 will be stored in variable d 

int count, sum;

main( )

{

for(count = 4; sum + = - - count);                                                                       

printf(“%d”, sum);

}

(a) Programs goes into an infinite loop

(b) 356653 will be displayed

(c) 354453 will be displayed

(d) None of the above 

What will be the result of executing following program

main( )

{

char *x="New";

char *y="Dictionary";

char *t;

void swap (char * , char *);

swap (x,y);

printf("(%s, %s)",x,y);

char *t;

t=x;

x=y;

y=t;

printf("-(%s, %s)",x,y);

}

void swap (char *x,char *y)                                                                             

{

char *t;

y=x;

x=y;

y=t;

}

a).(New,Dictionary)-(New,Dictionary)

b).(Dictionary,New)-(New,Dictionary

c).(New,Dictionary)-(Dictionary,New)

d).(Dictionary,New)-(Dictionary,New) 

main( )

{

static float a[ ] = { 13.24, 1.5}

float *j, *k;

j = a;

k = a + 2;

j = j * 2;

k = k/2;

printf(“%f%f ”, *j, *k); 

}

a) Error b) Some value c) No output d) None of the above 

main( )

{

static char s[ ] = “Rendezvous”;                  

printf(“%d”, *(s+ strlen(s)));

}

a) 0 b) Rendezvous c) ‘0’ d) Error 

A logic gate is an electronic circuit which

  a. Makes logic decisions

  b. Allows electron flow in only direction

  c. Works on binary algebra

  d. Alternates between 0 and 1 

The process of converting analog signal into digital signals so they can be processed by a receiving computer is referred to as 

 a. Modulation

 b. Demodulation

 c. Synchronizing

 d. Desynchronizing 

A distributed data processing configuration in which all activities must pass through a centrally located computer is called

   a. Ring Network

   b. Spider network

   c. Hierarchical Network                                                                          

   d. Data control Network 

 Multiprogramming was made possible by

   a. Input/Output units that operate independently of the CPU

   b. Operating Systems

   c. Both c and d

   d. Neither a and b 

What is the alternative name for application software?

    a. Utility software

    b. Specific software

    c. End-user software

    d. Practical software 

Compared with the secondary storage, the primary storage is:

   a. slow and inexpensive

   b. fast and inexpensive

   c. fast and expensive

   d. slow and expensive 

 EBCDIC ca code up to how many different characters?

   a. 8

   b. 16

   c. 32

   d. 64

   e. 256 

 program written in machine language is called as ___________ program

   a. Assembler

   b. Object

   c. Computer

   d. Machine 

A factor in the section of source language is

    a. Programmer skill

    b. Language availability

    c. Program compatibility with other software

    d. All the above 

 An integrated circuit is

   a. A complicated circuit

   b. An integrating device

   c. Much costlier than single transistor

   d. Fabricated in a single silicon chip 

Data integrity refers to 

   a. Privacy of data

   b. The simplicity of data                                                                          

   c. The validity of data

   d. The security of data 

37. Which data communication method is used for sending data in both directions at the same time?

   a. Super duplex

   b. Simplex

   c. Half duplex

   d. Full duplex 

 What is the usual number of bits transmitted simultaneously in parallel data transmission used by microcomputers?

   a. 6 

   b. 9

   c. 8

   d. 7 

 In the IBM PC - AT, What do the words AT stand for

   a. Additional Terminal

   b. Advance Technologies

   c. Applied Technologies

   d. Advanced terminology 

Different components on the motherboard of a PC processor unit are linked together by sets of parallel electrical conducting lines. What are these lines called?

  a. Conductors                                                                                           

  b. Buses

  c. Connectors

  d. Connectivity 

